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1 «“Multimedia” is a for any technique that combines sounds and

images.

« I'd like to know how many times he was absent during this .
2 -l offered to pay the of the taxi.

+ They won the war, although it them millions of lives.
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(‘Eﬂ profession acceptable outstanding criticize
1 : considered by most people to be allowed

2 : much better than average

3 : a job that needs a high level of education and training
4 : say what you think is wrong or bad about something
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1 [Istill don’t know ( which / that ) topic to choose for our project.
2 | have no idea which candidate ( supporting / to support ).
3 They’re talking about which song ( play / to play ) at the concert.

4 Have you decided ( that / what ) to eat for lunch?
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1 | found the book.You were looking for it.

— | found the book you were looking.

2 The hotel room was too cold. | slept in last night.

— The hotel room | slept last night was too cold.

3 We need to protect the Earth. We live on it.

— We need to protect the Earth
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1 L= =22Ie2 25 = | 2U%3ICt (mistake)

— I’'m used to for a foreigner.
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— This book is worth

3 O= sdsEez MERIUE HE Xf2ARlRICt (elect)

— He is proud of as the student president.
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The term “halo effect”

(the following impressions / in which / can affect / refers to an error / one’s first
impression )
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(along time ago / you wrote a letter / had moved / to whom / the person )
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A Russian might assume that

(about which line / get in / the American / to / is undecided )
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(eat /can’t decide / pizza/ |/ to / which)
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People use

(for sexism /in order to / avoid / neutral expressions / being criticized )
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(being / like a beginner / can’t stand / he / treated )





